Soluxiont (47

CE ®+4x o L=y XAV EZO N .
o Zo _ o T‘w Ao
SGN  A4(x) 7o L= r+x z X (37 REAY é 2 2 <72 m/tw» x=0

?L+9L733
\/g&-nc “+ % 2% Y= i am~nlola oWEE .
oy =0 /é(gg),\,‘Zae>+oo %(1)-&«221 = Vazea +%X —____QC,_:—; ~ :%:;—»——%
$(0)=0, F€1) =4 Y= 2%-4 > é;,aofw
! - 224 A4 x+0,2¥-1 ( , Caedicade )
DR {(2)‘ 2V R+ ) Hpo M /t@
{‘(x)»o 4=y 2Va4vx € 2x+4 <= {whhx < Uyl lx+A ,-...)lg ,‘Q
- a

orv Lay=-1/ Ly <0
Vidigal = % —Corrmiacle - ﬁ/wdw/@ ,\}“ﬁﬁfwb&a{& %v/\ X -Av X B0

@m&mwmm e x € (10) , dow T‘Mﬂmm ot e V== -2

v 5S¢ e Bva L
DS(I;\/ /{7(/::/}:/%”22 1 -4 zo (=7 2V-zrx £-2%-4 Z-) 4<Ot< 2 o T

2 -x k3><+8x+1 <4 O "% o
| = a(x;« Peo IV

4o |0
iéﬁ(4+93+9°+0(ifq)—*f~9€~%+0(?3")+’f _ 9“*%-&9& fx,—gon 1o(x")
= % - y

- &'~ 2@"4«;(7")“(4 Ja ~%+o(7e")) 1- 2 2" - % “ et 2 " vo(x )

M—-—) 4 ‘

-5(6 x4+ o(2%) 5

2 & 1S 4 2=z -1 A < c<b
%(wa): %5 (1+<) 4! * 5,
- A4 (AN~ (A -

,%(5{40)N 2~ 7 (é_.;) 5(425)~ 0,222

- . =5 ‘ , A+c = 45, 1 < 2

E = (:-(:;3’;""’"%44 <@ W T«% RLLLYFR ey Z

£ < - 5" _ a4 <Ao’3

“ 50 4®




»

A4

CE &-xkxzo <37 Xgo v HAzd
s < .
SGN é(at) 20 <=p V-2 p - & <= Xzt v g#-’xo . <> S aa e MC«JO
"v\ z X Mol o /t\-vt x = QO
LiM MI$+® /6(99);\) 2X > +o0 , /6(3)-21_-,- =X ~ - X -4 Y= 2x -1 amhola
/Fm X —> ~w {(?‘.)’ X _x \‘i‘i’;:—;‘ -{..:K z2x G E 2
i -—..MN e e S N .
Vaix -2 ~2x Z 4= § ammhols ot
‘{;(O)z o 6{4):4
\ - ; . .
DRvY %(Q&):Q\I{% _,’.t_;m.,%"f X+ 0, 2¥1 g-gmtw«t Q. /ta vedieads )
ffz‘ 4,,..? _2\/ 2 >4~29( <= Xz v )(’ngo z L= xzA
R (xyze ~7 -z 7 N {ax—tx < dx~bxrs
—e=%R
2 X
ey’ 2" 14 {xe x);/ <o - T
YR ED o 4

Ren gee(o,d)fytwc&wm hf{;’iz, V- 22 + %
{’ .

Sers e PO —
/{’21 4 - - L D 7 4
+ zo <37 ’4'2 V- 2 ’*" 2x-4 L=p o<xsz v ngt—&wds?o

VR A
6 2Vz-2?

Merrercn gy = e K,
B ’ —
o 1 d 7
O(: A V‘é
i~%

2,
| L |
5(4+(>f"§,}+o(x€’}\)£) - 5 +Z(”"£’?€'-¥ Z'f_i_z;z(’,,,me(xa))
é et P R TS S e AT B AEEE———— e S
Z,W /tré I ';?J -+ Q’r«x(!
{1~ 4% - g x4 4 (%)
G 4/3\ . —:‘(’ 4 ( h) .
5(,5_&, et - % 4 a{wéz} ” +2- 2 +1{% + O x‘w )
T 2 4ex")
“ );
(i %" 37 7 )-3 " x ISR g g
I o~ e - _ %/x -+ O(,’,Y )
~ x4 selX “1
| 3 w—"“ ‘ 5o 89 ! %’ { p
. 3, =« _ X 5c _ ; 2= 4 bcced
ina 4 /Y 2[4 ) L 2, 080
SWN 2(/“_&(3) 9(ea> 34(;(2)
- A+c> 4 1«4
4+

[

€ o T 82 - Appross. P o=

&0 N AD -5

8- g% - 24




TRY

RV’

56 ™

DRV

»‘Zz:':,f‘wu.rvw Aoty b A

i

‘e 1}
+o{z"

y Al
: - s i
% _ f{ 4 o< ‘\4 -+ 5 )

7 4 Oy oo ﬁ;}
el 9 /1 v i

'qu e

4

o

40

4+

<

prd
¢

o i RN G N
Dtenpoa preds i
§

=7

rranflon r»zm,&;: x =@

Y21 asimhote O0GL.

NN 3 S YRR T VO o

Mromedoe 2 % = = ey

) B ety M ff e ~,,_.,'}
Ve T e L= - o +
R 5= T DR B L ) FEY I AT S

[l ptimrA e L d
f‘;,?( +bx o e

¥

1

pad

o

#




Solwzioni [ 4]

C.E. x%-2% O <=» ® Lo v X = 2

S %C»")?D <= Var-2x - x <=7 X2V

LiM o K>t 46(*2),421—-?*’0“ '
2%

‘5(’2\—-21 = V2w — % = ———— ~
U%"_.Z"( + X -2 X

XLO
= s .
éﬁl"zx z % {27 plla W@: :))Q

pon x> ()= EELARN oA ainloto ovz
DRV xt2x =% < '
z@‘@c)z x =1 o A x+0 ,%F*2 (W a‘vxq), ek cake )
{ L e v x¢©
- \} . - - zZ
. b 2o ¢=y V2t2x =177 =z {ociz«; w22 ¥A
DAY sfe AR
AV graye 1] (%2277 —
Pen =€ (9,2) Audacrena Ao /Di V2 -2% + 2.
06N | '4 t;:b ‘/___,_.__ 4<x < 2
J . A% A o =7 22zt z =1 (=7 x€A Vv
DR ‘6(7{) Vax-a? : i P 7 izxﬁf«cﬁ-‘f <o
=N
PRI s
) 4 o
Ae 4+ L
>3
2., . . )
2—%+o(x“)~2+2(4‘§'”« o(2%)) '
e T 5 =
4+/x1+_?€_¢' 2 + 1 - 22t + %)Q« -+ (’14/'7‘ b o(x9))
Z ,
2 4)
‘gm",#o(?t“) R Y £
R I = e S &
_ bt o4+ "Jtawé-?»i%" Lolx4) At 24 4o (X )
. 4 z”
2 > 80 —— @3> .
- - R 5 A7 - 2
3iae =17 %E 7 % T oG YRINOTPS R b A, o<€<
2% <%
3 - Yy 5 4.
Vzs = > (1* j;)(gﬂ,%(z{;) - zwfv . 3 036
- ‘E),Q... ____-_/(___...-——- _j,__.._ < O £ A+C _’1
E 31 (At > R 24 DppnoSS: ffr SO 7o, i < k
cle 80 1 < 8407
81 - 24

~2Z _» A4 Y= dx+A aanlialo




